EPR 8283

TRERE 7T 1A 43

It Trafag BB ABR— U RMCH. FIEM B ERB URBTNEEHH
REEMRENERKEL. EPR ENTERTANEERNSERMEIT,
AUERANEECERNA R AHtNEEN  HHBNKBRELET
Trafag ST HYIESTERRIE BB RA,

FERR

RREEN

TREERI A

REIEER S
TRFFERONGEERERS, FHINEH
fitE3&E: 710 VDC, A& EN 50155 (5%2)

RAIE

NEFRE A EE

NEEE 0..25%0...600 bar
0..30Z0...7500 psi

BHES 4..20mA

NLH @ 25°C (BSL) #28(& +0.2% FS HE(E

15 @ +25°C BaAY(H +0.5%FS HAE
+0.3%FS HAE
NEEE -40°C ... +125°C
KIFRE -40°C ... +125°C
/a1 EN 50155 ($ )

EN 45545-2 (BK)

Trafag sensors & controls Industriestrasse 11
Switzerland 8608 Bubikon

+4144 9223232
www.trafag.com

sensors@controls

08/2021

HER HT2319e

EEE SR



EPR 8283

8283. XX XX XX XX XX XX

WEEEY BE SE BREN o SE BREN
[bar] [bar] [bar] [psi] [psi] [psi]
0..25 75 50 75 0..30 90 700 G5
0..4 12 60 76 0..50 150 850  Gé
0..6 18 100 77 0..100 300 1450 67
0..10 30 200 78 0..150 450 2500  G8
0..16 48 200 79 0..200 600 2500  GA
0..25 75 300 80  0..250 750 2500  G9
0...40 120 300 81 0..300 900 4000  HA
0...60 180 400 82  0..400 1200 4000 HO
0...100 300 500 83  0..500 1500 4000  H1
0..160 480 750 85  0..1000 3000 5000  H2
0..250 750 1000 74 0..1500 4500 7000 M3
0...400 1000 2000 84  0..2000 6000 10000  H5
0...600 1500 2500 8  0..3000 9000 14500 G4
0...5000 12500 21750  H4
0...7500 18750 29000  H6
oS KRS, KEEE £ 0.5 %; FHKL 120 / SM55: 1.4542 (AISI630) 25
TR FE ST, KBRS £ 0.3 %; MK EAED / 4h55: 1.4542 (AISI630) 23
EnEn G1/4"Rigsy 10 1/4"- 18 NPT I 13
G1/4" sh2Ly, ZEt: DIN 3869 (Fifh 61/63/83) 17 1/2" NPT 4MB& 2 51
Gl/4" shigsy, 2 £25% FAE @ 0.5 mm, 15 RI/A"SMBL, DIN38S8? 19
2t DIN 3869 (fifF 61/63/83) M14x1.5 SMELL, DIN6149-22 31
G1/4" SMBLY (FEF75) EN 8372 53 7/16"-20UNF 4ME4L, DIN 3866 2 4 18
G1/2" JMBEY (FEF1%%) EN 8372 11 7/16"-20UNF 4ME%L SAE (J1926-3) 2 )
1/4" NPT §MBL 30 7/16"-20UNF PRSB4Y, SAE J512 iRl 1% Mk ¥ 24
HSIED $E$HESL EN 175301-803-A (DIN43650-A), &) PA 05
FEEHESL M12x1, 5 1, PBT #4%1 35
FESHESL MIL-C 26482,6 § 1Y 02
EB4PUR (E240ER 45k PA 6-3),-20°C ... +70°C 6179 24
EBAPVC (IR PA 6-3), -5°C ... +60°C 1819 2
E4iRaychem (BB4UEE4iHEL PA 6-3),-20°C ... +100°C 9 1 819 08
RdiES BHiES k| 1 (f#e8) U (fieB)
4..20 mA (U £E9V)/20 mA 9..32VDC 19
o 4 FPM, -18°C ... +125°C3) 61
#%f EPDM, -40°C ... +125°C 3 63
%51 NBR, -25°C ... +100°C 2 83
FEHIEERRBTTH 0 1.0 mm, #411.4305 9 40
EHIEERRBTTH 0 0.4 mm, #411.4305 9 44
$E7|HELEN175301-803-A (DIN43650-A)/NBR, -40°C ... +90°C, ST FEBAER 4 ... 9 mm, BiA53E UL94-VO 46
$E7|HELEN175301-803-A (DIN43650-A)/BE, -40°C ... +125°C, S FEBMER 4 ... 9 mm, Bik 52 UL94-V0 56
$E7|HELEN175301-803-A (DIN43650-A)/NBR, -40°C ... +90°C, X F BB ER 4 ... 9.5 mm, Bik 52 UL94-V2 58

S| LR )R HEE 1+, 485 2 -

(REBHES 4... 20 mA FIHIE8 A%k EN175301-803-A / DIN43650-A) 92
B S{ZCIR05M 52 EN175301-803-A (DINA3650-A), FFAEIRE (SX 85°C) Lo
ZiEaE o M

) BRESIENTE 7 P68, B3m, A1 +10°C ... +35°C

2 T ) YK B 3 m, BFFEAEE < 16 bar

I NATEAZOLT (G1/4") ) RS AT EN 45545-2

9180 bar 72t Al #/ch 518 2121 19/ 60 bar 03T BNFR 50 S0fEH, BT SO 057 35

S RERTENEDL0,11,13,18,24 WAYAFEAED 13.17.19

o BB KES M (RA K 50K, 5 Kh—F)

H72319 Titg 2/5 sensors &) controls



EPR 8283

B EIE BHiES [ HBBE 4...20 mA: 24 (9...32) VDC
EFEE BARE 1 ms/10...90 % BEES
BOBER 100 ms
RERERF, 5BRKEE @ 25°C,5 A 4 ...20 mA: bis Us=32VDC
FRE& A NREE -40°C ... +125°C
IMERE -40°C ... +125°C
itiat &l IP65, IP67, IP68
E 5K 95 % XA
i) 15 g RMS (20...2000 Hz) £¥& EN 60068-2-64
25 g sin (80...2000 Hz), 1 Okt./min, (1x @ 25°C) ff&
EN 60068-2-6
& 500 g/ 1 ms gem. EN 60068-2-27
EMCHEFEAM g4t EN/IEC 61000-6-3
EN50121-3-2
T EN/IEC 61000-6-2
EN50121-3-22
ke ¢ fERkas (A R) 1.4542 (AISI630)
EAEO (FRAR) 1.4542 (AISI630)
Hhs 1.4542 (AIS1630)
) FPM/EPDM/NBR
HEEHEK SHITHES
£ £980..110¢g
REHE 25Nm

VB BREE
2 RO LE, RIS

BE
WEKEE 0.5 % MEFEE 0.3%
THS 25 T8-S 23
BIRET @-25...+85°C [% FS BRY(E] +1.75 +1.0
fBE @ +25°C [% FS a8Y(E] 05 +0.3
NLH @ +25°C (BSL) [% FS B8 E] +0.2 +0.2
TC ERfREMERTEE [% FS/K HLELE] +0.03 +0.01
1FKEIRTE @ +25°C [% FS BaRE] +0.1 +01
MNEFSE 0.5 % MNEFSE 0.3 %
8
7
g -
~] — — 3 —
. == S = B e =
=2 — = - — S| T-rTF—FT—=—t—1t-71 T [ | [ 111
=1 e s 5 ——r ——
PR N ) D o = et A I O W B B 33 = il + ———
2 1 — E == —_—— < 3 — | 1 =
2 g = = =] 50 40 30 20 0 0 10 20 30 40 50 60 70 8 90 100 110 120 130
g o= S S - Temp.(°C)
6 - max. — — typ. —— 1 TEB(-25...+85)
7
’ 50 40 30 20 10 0 10 20 30 40 50 60 70 8 90 100 110 120 130
Temp. (°C)
max. — — typ. —— [ TEB(-25...+85)

H72319 Tkg 3/5 sensors & controls



EPR 8283

R~

1.4305
NS IR 3 14301
8283.XX.XXXX.05.XX.XX 8283.XX.XXXX.35.XX. XX 8283 . XX.XXXX.02.XX. XX
36-38 with male thread | 355 | cable Iength 15
48.5-50.5 with femal
t\ﬁlreademae 14 145 12 2 145
= E\ —
125 |\ =
20 g
[Fe)
[
8283.XX.XXXX.24/22/08.XX.XX 8283.XX.XX10.XX.XX.XX 8283.XX.XX1T7.XX.XX.XX
15.1 2 145
12 2 145 15 3 20 14.5
R I | - T [ [ 1
< (Yo} |
int. dampin 2 =
o~ e} —
00 18 miy J  2lx a8 ol 2l 2| ol
gE 83 N el 312 a2 I 3l
8283.XX.XX15.XX.XX.XX 8283.XX.XX53.XX.XX.XX 8283.XX.XXL1.XX.XX.XX 8283.XX.XX30.XX.XX.XX
135 145
14 143 135_65_145 10 145 o

— ]

[WpAl
1
s
SW27 ———1—

=2 ) o~
20 o 3 2 e
% 2 2 2z 52 25
S = = 2 = s % a %
8283. XX XX13. XX XX. XX 8283 . XX.XX51.XX.XX.XX 8283. XX.XX19.XX.XX.XX 8283. XX XX3L.XX.XX. XX
55 27 5.5 27
14.5 o |
9 23 7/16"-20UNF SAE J512 : 1
0-Ring
08.92x1.83 .o [ 1] » ‘ 3
g aas
— 8 R | gy — H —
M5x7 S : _ :
K
7/16"-20UNF 15 2 L My 2 1)
SAE4 (J1926) (295 . =
SW27 8.6 1)Tightening torque 50...60 Ncm 1)Tightening torque 50...60 Nem

8283.XX.XX18.XX.XX.XX 8283.XX.XX42.XX.XX.XX 8283.XX.XX24.XX.XX.XX  8283.XX.XXXX.XX.XX.46/56 8283.XX.XXXX.XX.XX.58

H72319% g 4/5w sensors &) controls



EPR 8283

BSiEO
PSR B SEE
IP65*) **) IP6T*) **) IP67*) **) IP68 max.3m IP68 max.3m
TR M12x1 MIL-C 26482 E %)/ *xk%) 4T ¥/ *xkk)
EN175301-803A 5-1
05 35 24/22 08
32
5
€0 23 == ==
S 4
. 1
I 92
P -—I‘:}—(-D Us (pos. Supply) 2 1 4 A =f) FARE
fr20ma T+ Us (neg. Supply) 1 2 1 B 5 e
| 1—-—(—'—(| I @ Earth (housing) @ (©) 5 E ) ze
T Shield
8283.xx.xxxx.xx.19
*R(ERIRBME L ENIEFLIELB X
) B Ak /B AR
) (NS T I RO ER A TLIESL
) FEF SR EN 45545-2
NI ARNGE $E3%
IMER M 7z EN 60068-2-1 Ab: -40°C, 2 h (Xi&1T)
Ae:-40°C, 1 h (i&17H)
Fih EN 60068-2-2 Be: 85°C, 6 h (iG17H)
R, B EN 60068-2-30 Db: 55°C, RIS 1.2 f&3F (2x 24 h)
IREDANIT & EN 61373 {REh: 2R03 Y
TH: %030
it ESRE EN 50155 710VDC
il ] EN 50155 >100 MQ, 500 VDC
TRERERRES EN 45545-2 F8:<10g
(BF=BS#EO05,35) RE:<0.2m?
B TEBE EN 50155 24V
B T EN 50155 $RIS1
TER R (I EN 50155 $ERICL

U B2 AEZKEN 175301-803-A, 231 2

X IR www.trafag.com/H72319
RIEN IS www.trafag.com/H73317
IMRF www.trafag.com/H70601

H72319e D183 5/5

sensors@ controls



